1.

Wiy Homewaori

Isaiah is buying jelly beans. In bulk, they cost $3 per pound,
and & candy dish costs $2. The function rule, 3x -+ 2 where  j-siem e

X is the number of pounds, can be used to find the total

cost of x pounds of jelly beans and 1 dish. Make a table ;

that shos the total cost of buying 2, 3, or 4 pounds

of jelly beans and 1 dish. (xangles 1 and2) e

Jasper hikes 4 miles per hour. The function rule that represents this
situation is 4x, where x is the number of hours. Make a table to fing how
many hours he has hiked when he has gone 8, 12, and 20 miles. Then

graph the function. (Examples 3 and 4)
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‘%ﬁ?Whitﬂ@y has a total of 30 cupcakes for her guests. The function rule,
30 + x where x is the number of guests, can be used to find the number
of cupcakes per guest. Make a table of values that shows the number of
cupcakes sach guest will get if there are 6, 10, or 15 guests. Then graph
the function. (Exemplest and 2)
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« Bella rollerblades 8 miies in one hour, The function rule that reprasents
this situation is 8x, where x is the number of hours. Make a table o find
'ghow many hours she has skated when she has traveled 16, 24, and

32 miles. Then graph the function. (Frampies 3 and 4)
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ef_?F_tO Exercise 6, How many miles would Bella travel if she skated for
Nours? o ‘
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16. Ricardo weighs 2 pounds more than twice his sister's weight. y
The function ruie, 2x + 2 where x is his sister's weight, can be 22
used to find Ricardo’s weight. Make a table of vaiues that show § 0
Ricarde's weight when his sister is 20, 30, and 40 pounds. 2 60
Then graph the function. 3 50
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